V:\Traffic Signals\7. Projects\Fort & St Mary S-1087\Current_Fort & St Mary S-1087.dwg

CONSTRUCTION NOTES:

PROJECT SCOPE

1. INSTALL CONDUIT, BASES AND PITS AS SHOWN.

2. TOTAL LENGTH OF SERVICE CABLE: 5m.

3. INSTALL EQUIPMENT AS SHOWN. REMOVE JOINT USE POLES #E1 & #E4. REMOVE
SIGNALS EQUIPMENT FROM JOINT USE POLES #E6 & #E7.

4. TIMINGS REQUIRED.

PROJECT COORDINATION

1. COORDINATE WORK WITH (CA’s NAME), (204) XXX—XXXX.
2. TWO WEEKS PRIOR TO CONSTRUCTION, COORDINATE REMOVAL OF JOINT USE POLES #E1

& #E4 AND REMOVAL OF SIGNALS EQUIPMENT FROM JOINT USE POLE #E6 & #E7
WITH DARREN TABAK, (204) 360-7521, dtabak@hydro.mb.ca.

PUBLIC LANE

V'

ST. MARY AVENUE

FORT STREET

V!

R

PROPOSED CATCH BASIN
" By OTHERS (TYP.)

| ]
E4| p
3 N E/
4,

A ——
T —
ENT s J) e ENT Loyl e ey
——ENT e f S ENT e g el =
— =7 _EN,&”
—ENT —

—Y === e ENT

\

T.S. TIE LINE (NOT IN USE) &
HYDRO 12D FROM GARRY ST.,
SEE DWG. S—1609

REMOVE &

REPLACE WITH

PRECAST PIT

T L/ ENT e f
— ] — e N\ | s f { e ENT
=== ===

V'

T.S. TIE LINE (NOT IN USE) &
HYDRO 12D TO MAIN ST.,
SEE DWG. S—1609

[ ROADWAY & SIDEWALK CONSTRUCTION
TO BE COMPLETED BY OTHERS (TYP.)

N.T.S.

TRAFFIC SIGNALS EQUIPMENT DISPLAY

FORT STREET

INSTALL LOW
HEAD ON SOUTH

SIDE OF SHAI-—I'*\

S

ST. MARY AVENUE

Eh 'uu
ol
S

O®@

2.
y 35
L W =

]
DO

O

g

EQUIPMENT DISPLAY LEGEND

EXISTING PROPOSED (AS SHOWN BELOW)
@ )
/]  PEDESTRIAN HEAD XEEL?LE DETECTION Bl TRAFFIC SIGNAL HEAD 12 LOW ARM (SHOWN FROM CENTRE)
© HIGH ARM (SHOWN FROM SIDE)
_% o SLAANFEAD - PB PUSH BT ON & @ TRAFFICSIGNALPOLE ~ (® RED FLASHER D LUMINAIRE
[R] s oo gmasr o) pmameme B AMENUIR © owen
NO. EQUIPMENT LIST ARM BASE| B.B. | | NO. EQUIPMENT LIST ARM BASE| B.B.
1. | 35’ SIGNAL FOR XX WATT LUMINAIRE 12’ | G | GD [[E4. (TO BE REMOVED)
2. | 35’ SIGNAL FOR XX WATT LUMINAIRE 12’ | OD | DD | |ES6.
3. | 35" SIGNAL FOR XX WATT LUMINAIRE 12’ | OD | DD ||E7.
4. | CANTILEVER 16’ | OD | DC
5. | 35" SIGNAL FOR XX WATT LUMINAIRE OD | DD

6. | 332 CABINET/2070 CONTROLLER

7. | DISCONNECT PEDESTAL

E1. (TO BE REMOVED)
NTERNAL REVIE PLAN VIEW: UNDERGROUND CONSTRUCTION
OPERATIONS: .
DATE INITIALS 1:250 EXISTING PROPOSED (AS SHOWN BELOW) DIA.
ABANDONED DISCONNECTED (LOOPS ONLY) BOLT SQUARE (B.S.)
TIMINGS (INITIAL):
NEW TIMINGS? DATE INITIALS 11/2" PE CONDUIT —rE—= POLE BASE O IXEE "g" . 2 ;;i" /7_ \\
TIMINGS (PRE-":C): 2" PE CONDUIT o PE em— ¢ o— CONTROLLER BASE TYPE "C" - 8 1/8" SCREW TYPE bJI
NEW TIMINGS? DATE INITIALS 2" ENT CONDUIT e y— PEDESTAL BASE E TYPE "D"- 12 3/4"‘ 1 1/4" DIA. BOLTS, 24" DIA.
TMC: TYPE "OD" - 12 3/4", 1 1/4" DIA. BOLTS, 28" DIA.
DATE NTIACS AERIAL / BURIED CABLE - TERMINAL BASE TYPE "PD" - 12 3/4", PRECAST, 1 1/4" DIA. BOLTS
STREET LIGHTING: CONDUIT STUB — SERVICE BOX (PIT) O TYPE "E" - 9 9/16" SCREW TYPE
TYPE "F"-99/16"
DATE INITIALS BREAK-IN ——> 24" PRECAST PIT AN nes " "
! TYPE "G" -8 1/8", 1 1/4" DIA. BOLTS, 89mm PROJ.
TRAFFIC MANAGEMENT: SPLICE > — 30" PRECAST PIT A TYPE "GS" - 8 1/8", 1 1/4" DIA. BOLTS, 76mm PROV.
DATE INITIALS . TYPE "PG" - 8 1/8", PRECAST, 1 1/4" DIA. BOLTS
FACILITIES PLANNING: 36" PRECAST PIT <> TYPE "H" - 9 7/8" SCREW TYPE
DATE INITIALS SAW-CUT LOOPS TYPE"I"-7 3/4"
REMOVAL b R TYPE "J"-105/8", 1 1/4" DIA. BOLTS
TYPE "K" - 10 5/8", PRECAST, 1 1/4" DIA. BOLTS
PREFORMED LOOPS TYPE "L" - 6", 5/8" DIA. BOLTS
TYPE "PM" - 8 1/8", PRECAST, 5/8" DIA. BOLTS
WATERMAIN ___150wm PROPERTY LINE _——_—— TELEPHONE __ TELEPHONE UNDERGROUND STRUCTURES CONSTRUCTION REVISIONS ACCOUNTS: ENGINEER'S SEAL:
HYDRANT & ROADWAY COMMUNICATION COMMUNICATION R.S. WT PENDING (& THE CIT Y OF \;\/ I | \] | Q IPEG
VALVE ® SIDEWALK WOOD POLE oW DESIGNED BY /—\
SEWER 300 SEWER CURB & CURB RAMP S e B STREET LIGHT L UNDERGROUND STRUCTURES ID DATE (vvyYMMDD) RS ‘ ‘ 7inni e PUBLIC WORKS DEPARTMENT
MANHOLE O WARNING TILE EE BANNER POLE - = PRELIMINARY P g TRANSPORTATION DIVISION
DRAWN BY
CATCH BASIN D SLOPE —rlTl—l_l-l_l—rl_ RAILWAY POLE ® LIABILITY DlSCLAlMER NOT'CE
THE DIGITAL INFORMATION PROVIDED FOR YOUR CONVENIENCE HEREIN -
CURB INLET \Ve CULVERT —r—————— - GUY-WIRE e WATER & WASTE REVIEW ID IS FOR USE AT YOUR OWN RISK. THE CITY OF WINNIPEG, PUBLIC WORKS NOT FOR UNITS:
b - DEPARTMENT, SHALL ASSUME NO RESPONSIBILITY FOR THE CONSTRUCTION ALL DIMENSIONS ARE IN METERS
HYDR HYDRO BUILDIN T 7 NOTE: INFORMATION AND IT SHOULD NOT BE CONSTRUED AS ASBUILT UNLESS OTHERWISE NOTED
° - — v ¢ 4 FENCE " " LOCATIONS OF UNDERGROUND STRUCTURES AS SHOWN ARE BASED ON THE BEST creceR ey ::',“J’SSOMSAETS'O%NEE A':FDORS“’LAJL'E'; SBHEOUCER%EE‘)JSEB[; FSOSRVPELCNNT”:E TRAF F I C S I G NALS
GAS 100 GAS TREE @ GUARDRAIL INFORMATION AVAILABLE. BUT NO GUARANTEE IS GIVEN THAT ALL EXISTING UTILITIES ARE DEPARTMENT SHALL NOT IN ANY WAY SURFER ANY  LIABILITY FO RT ST & ST MARY AVE DRAWING NUMBER:
SHOWN OR THAT THE GIVEN LOCATIONS ARE EXACT. CONFIRMATION OF EXISTENCE AND . . .
EXACT LOCATION OF ALL SERVICES MUST BE OBTAINED FROM THE INDIVIDUAL uTILITES | A ISSUED FOR INTERNAL REVIEW ;VUHF'T:TESF?EEDVS\? SLEH/;%T::TRT;NEOFF;O'SJTUHR;& bg:sc’)FogR ggmﬁg: S-1087
EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED EXISTING LEGEND PROPQOSED | serore PROCEEDING WITH CONSTRUCTION. DATE ’
NO. | REVISION (YYYYMMIDD) BY APPROVED BY UPON, THIS INFORMATION.



AutoCAD SHX Text
250 W.M.

AutoCAD SHX Text
TELEPHONE 15D

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
375 S.R.S.

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
250 W.M.

AutoCAD SHX Text
600 SEWER

AutoCAD SHX Text
TELEPHONE 15D

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
250 W.M.

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
375 S.R.S.

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
250 W.M.

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
S.L. SERVICE BOX

AutoCAD SHX Text
FIRE TANK (ABAND.)

AutoCAD SHX Text
HYDRO VAULT

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
100 GAS (ABAND.)

AutoCAD SHX Text
200 W.M. (ABAND.)

AutoCAD SHX Text
150 W.M. (ABAND.)

AutoCAD SHX Text
100 GAS (ABAND.)

AutoCAD SHX Text
150 W.M. (ABAND.)

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
100 GAS (ABAND.)

AutoCAD SHX Text
SIGN POLE BASE

AutoCAD SHX Text
C

AutoCAD SHX Text
T.S. TIE LINE (NOT IN USE) & HYDRO 12D TO MAIN ST., SEE DWG. S-1609

AutoCAD SHX Text
T.S. TIE LINE (NOT IN USE) & HYDRO 12D FROM GARRY ST., SEE DWG. S-1609

AutoCAD SHX Text
1.

AutoCAD SHX Text
2.

AutoCAD SHX Text
3.

AutoCAD SHX Text
E4.

AutoCAD SHX Text
4.

AutoCAD SHX Text
E6.

AutoCAD SHX Text
E7.

AutoCAD SHX Text
6.

AutoCAD SHX Text
8.

AutoCAD SHX Text
P

AutoCAD SHX Text
C

AutoCAD SHX Text
7.

AutoCAD SHX Text
5.

AutoCAD SHX Text
E1.

AutoCAD SHX Text
REMOVE & REPLACE WITH PRECAST PIT

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
PROPOSED CATCH BASIN BY OTHERS (TYP.)

AutoCAD SHX Text
ONE WAY

AutoCAD SHX Text
ONE WAY

AutoCAD SHX Text
C

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
1.

AutoCAD SHX Text
2.

AutoCAD SHX Text
3.

AutoCAD SHX Text
4.

AutoCAD SHX Text
6.

AutoCAD SHX Text
12'

AutoCAD SHX Text
35'

AutoCAD SHX Text
12'

AutoCAD SHX Text
12'

AutoCAD SHX Text
16'

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
P

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
P

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
35'

AutoCAD SHX Text
35'

AutoCAD SHX Text
7.

AutoCAD SHX Text
5.

AutoCAD SHX Text
35'

AutoCAD SHX Text
INSTALL LOW HEAD ON SOUTH SIDE OF SHAFT

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
P

AutoCAD SHX Text
PB

AutoCAD SHX Text
R

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
EB

AutoCAD SHX Text
C

AutoCAD SHX Text
P

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
B

AutoCAD SHX Text
12'

AutoCAD SHX Text
35' SIGNAL FOR XX WATT LUMINAIRE

AutoCAD SHX Text
1.

AutoCAD SHX Text
12'

AutoCAD SHX Text
G

AutoCAD SHX Text
GD

AutoCAD SHX Text
FORT STREET

AutoCAD SHX Text
ST. MARY AVENUE

AutoCAD SHX Text
2.

AutoCAD SHX Text
3.

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
4.

AutoCAD SHX Text
16'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
5.

AutoCAD SHX Text
30' TROLLEY S.L.

AutoCAD SHX Text
6.

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
30' TROLLEY S.L.

AutoCAD SHX Text
7.

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
332 CABINET/2070 CONTROLLER

AutoCAD SHX Text
8.

AutoCAD SHX Text
PUBLIC LANE

AutoCAD SHX Text
FORT STREET

AutoCAD SHX Text
ST. MARY AVENUE

AutoCAD SHX Text
HYDRO M.H. No. STM-3

AutoCAD SHX Text
SERVICE:

AutoCAD SHX Text
PLAN VIEW: UNDERGROUND CONSTRUCTION 1:250

AutoCAD SHX Text
T.S. TIE LINE EAST & WEST

AutoCAD SHX Text
35' SIGNAL FOR XX WATT LUMINAIRE

AutoCAD SHX Text
12'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
35' SIGNAL FOR XX WATT LUMINAIRE

AutoCAD SHX Text
12'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
35' SIGNAL FOR XX WATT LUMINAIRE

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
DISCONNECT PEDESTAL

AutoCAD SHX Text
E1.

AutoCAD SHX Text
35' S.L. (TO BE REMOVED)(TO BE REMOVED)

AutoCAD SHX Text
E4.

AutoCAD SHX Text
35' S.L. (TO BE REMOVED)(TO BE REMOVED)

AutoCAD SHX Text
E6.

AutoCAD SHX Text
E7.

AutoCAD SHX Text
CONSTRUCTION NOTES: PROJECT SCOPE 1. INSTALL CONDUIT, BASES AND PITS AS SHOWN. INSTALL CONDUIT, BASES AND PITS AS SHOWN. 2. TOTAL LENGTH OF SERVICE CABLE: 5m. TOTAL LENGTH OF SERVICE CABLE: 5m. 3. INSTALL EQUIPMENT AS SHOWN. REMOVE JOINT USE POLES #E1 & #E4. REMOVE INSTALL EQUIPMENT AS SHOWN. REMOVE JOINT USE POLES #E1 & #E4. REMOVE SIGNALS EQUIPMENT FROM JOINT USE POLES #E6 & #E7. 4. TIMINGS REQUIRED. TIMINGS REQUIRED. PROJECT COORDINATION 1. COORDINATE WORK WITH (CA's NAME), (204) XXX-XXXX. COORDINATE WORK WITH (CA's NAME), (204) XXX-XXXX. 2. TWO WEEKS PRIOR TO CONSTRUCTION, COORDINATE REMOVAL OF JOINT USE POLES #E1 TWO WEEKS PRIOR TO CONSTRUCTION, COORDINATE REMOVAL OF JOINT USE POLES #E1 & #E4 AND REMOVAL OF SIGNALS EQUIPMENT FROM JOINT USE POLE #E6 & #E7 WITH DARREN TABAK, (204) 360-7521, dtabak@hydro.mb.ca.


	Sheets and Views
	Layout1


